V4

%
L/'Ql) remqnn gams

R«’emcmn §(’;(m.s‘ - L/s/y rec‘/ J/?s ‘710 és?‘//m(?le aréa ‘p R"’w”

64:’&1 unc/er- A carve )
Cons{je« fhe 1[7(,,naL/Dn
‘F&): x| [——Q) ,,'2:(

| | ‘ Y LJ Jf/’j, 7L/t’)(’
Al (& r"‘"-f m,/g lvi ///Dfaw‘/p -

J
: ) | . an Ol'f’f()>fum‘fw
\.\, X ‘ of Hhe area Und

fhe - ‘CUrve..

| D) Uper rechls or Craumsrld

€r

v L ]

ID/JO% €. “"“"+ ‘/"’ i}’ﬁm«’@.; *‘/\/\‘hw Fhat one covner &€ ead rectangle 1s an
the Aarea. of the Sh"‘/{j 'I‘:’jw‘ the qvapl,. Th's ensures Hhat +he /4(,‘777‘ of ;7‘%?
L(sn; j,ye,, num&r o‘p reJ’a.»j(eg | "c’e'ﬁzryie ’s the same. as Hhe valua 7{,,# Ho Fenctan

ﬂe wr‘f éu/k’re 7‘/’{;/ connlec

J) [ ower ov .:Z;ljcheJ ﬂc‘/ay /65‘ 3) Le'p‘lt’ fzaneJ /fecfajl?5 if‘) iﬁ“”/mm/?J ﬁ&‘}&;\]!@j‘

JEEEE Y A

These r&‘ﬁt":] Je /va""éi The lett corner a“p The r:ylr/' cormer of
AN ana/(’feb’f;m;;‘libﬂ O.F 7%6' ?dcﬁ rPc‘/’cm l€ “ ”‘ﬁe) &v,ﬁ vec aj
Aréa. c(m/e'r Hhe carve ‘l’o '7%2 ]m/o? q'f'ﬁ((j?s ‘7%@

F=ph-




~JM
L

4" ,QL (w»?%:ﬂ&d)

[E‘x, li Use 4 rectanqgles b estimats c,y;/-er anel Jolst s
—Co\r "7%6 Aréda éoﬁm &/ z‘{? X:O,j: OJ X:o?) ﬁﬂa( j:Xz_'_{

A SIS
36001 |
\ /A S“fee {7 Determina il st eacz rea‘/zr,:v]' /e,
N /, "t q( #; é__ @ a= /6107‘ {ncgoo:/;‘é
l‘ i l, Jl 13{:2 ﬁ: o ’ i = P !) - r:j,i\{' e)‘jo!.ﬁt
| n: nun,,é&Jr o i’(’c'?ldﬂ’ "5

§+e'£ ® me +he jY‘T / S . MQ(» o CR m%&?ru%@

X=0 .
Stop 37 Fird sum of“acess of ﬂfm/w“ﬁ ot s
P b- g s 5
|§maz W"UHA" n& alj.-_: w=00/4=°u= A
{ /7 n= /_'. ) L'L, v
| | o e
LA T s o heght AEEN
Rectanle #1: A = (1) « £() £2(0.5)= (08)+ 1= 95
[,,‘ i | , 'F(l)i‘, IZ-}I:(Z '
SU0)=(E)m) + 1400« £408) + 1402) 1) 15 2
| 27 (15)=15% 1 = 395
Area ot Avea o Area o LZ:J;}’J +(32)= A=l = 5

R?d’m:j 'é:’ #/ R@c’{a,jfe H2 /??C'k'jle k3 ﬂ?cf:dy/e # l{'

S(#) = 0625 + | + 165 + 25 L [5375 or f%/
L__“_,'_\__\_\_\

L) F:n.:P lower Sum
| 5(‘!‘) = é'c(D) + %'F(&S’)-i' %.r(/) + é-(‘[/ 5’) ‘F(a): 02+{ = |
\ / = 05+ 0625+ | + 1635

| i _ 5 o )5,
A _]3,? Af

ﬁjé’ 1 )K GO"«E? ﬂf/r)mxima‘}‘iwa "'For “7%6 dc ‘/Mp aréa |1 '/Ae 4 W’"’:‘f‘i

{7 |
K o il (A —

IR 3 2 hetareon cﬂoer arw[ fowern sum: S F5+ 3.752(%¥5f

—ts

L



2
-y
/.

l‘:. Q L [ 4::@3»',’1:“‘4!2&{)

M/JZM":’# Rule, Simidar 7‘1@ uﬁoer//z:u;er Stm l:u‘f use fhe m@fm.«'m{;
0'(:\ éc‘lczz rec_‘h{rj iﬁ 'fb KJ&@«.&:&, I’(c?lmzj/t?j /<€:7 ll'({*

&XQ, E_Sf/‘}mu.t Aréa unojfi’r Curye ‘p()()’: g—_‘ ‘ﬁ'm”" [Q éj
l 4 X E
se r’h/';:goo,f/;f' m[g u—vi"/i( 4 u

Suf mﬁ“”}’l/c’ s

- —

N ;
Rect  Ret Red pot
w2 #3 4u

/}'f/épf)o.?ml Sum = | *‘(«95) + | 3(35) + lf(l{-,g) t F{fg)
R i) Tl ) L i\ L .
Area Area - Area Aren

Rect #1 Rect #2 Reetd3  Ref #lf

7

f(25)= 5 = L1o3 £(45)= om = 0374
. ,. F
+(3.5) = 7on, = 0.60k f(5.5)= o, T0-25¢

Ml‘j'o-"l' S‘um: 1’03"" OC—,OL/"]‘ 03;26 _‘,0&75\6 e Q/gl-}{

o ij woul mwp/owﬂ?LS’Mm be a [e‘ffer ,%awx,‘mr}lm A area
'7%41" l-t/o €r or /ow@ Stem ?

771'; ,8 'gc’mu:e; ?a«% ft’é%"':’]/é Ad: fzﬂ%n d!&s‘i/é’ dno/ 5(7/,_;’-0

4 ret

A griph /

%/\/o‘fe: /Mgf,’omh% Sumn 7S g% 7%2 601/?/\&1]6 5"37[“% 173/0(’# 4"/ /L\IM«’ Swﬂ»v



4o Selecked HW Paéf»éze? 423 25,87 2763 65
&9) 3: ; : _?EgT)T‘

- 1(1.2) = 4y,
+((4)“ /lf-
vLI) per supi- £C1.6)= ¢

a1 6
wﬂl\“-——-~~ 1L ., , F(18)=75

= c—

N
W\
il
S
b

S= 0.2)10) + (0.2)4(1.2) + (0.2 £(14) + (o, DHC6) +(0.2) §(1.9)

o7k -

’owers'um5 | %D,

S=(0.a)£(1.2)Y+ (o 2\ 2 A L/ n] , .
N @3 (0.2)F(1.4) + (0.7 J\C\(/.é_)+(0~‘2)F(/‘g)+@/)\)f(,)

63) Use Midpict R n=4 65) Midpt Rile: n=4
AN oA £¢ +an O£X é——%'
t69=x43 [04] Wikt YA, N
z 4 "I
fl ~47] | .
utiifi il
I/z ! % a o TZ‘ /g %7 %f
wilhobs 01 £, = tan%,)
= Lo %) = dan (%)
= £(55.)>ton (7752
"{:(Ar)- /;1*3 £(# [?17 )
£CH) = Hye (%) bl 72
FCH)= Yo s Ares = 4 (R) s B4R )i ()
. "ZF(%)
Area = $80A)+ 380A) ¢ LA (%) 14(%) ,V: S
"- ~o.345/



